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/‘ AerTeh! BT (i) A

01.

02.

03.

04.

T S8fhet I 100 N-m & TR T3 W I Srar 8 3K SHeh! ufgan o 2 20 RPM W 39d
s F:T8? /A bicycle is pedalled with a constant torque of 100 N-m with the wheel revolving at
20 RPM. What is the power developed?

(A) 210w (B) 02HP
(C) 2kwW (D) 2HP

T STt h Hegaeiiedr & 999 Sl ST ST Gl & / The sensitivity of reading of manometer

can be increased by

(A) 3= Tafe ues atet <1 39T S/ Using high specific gravity liquid
(B) TrEHT K] ET) gehreht / Inclining the manometer tube
(C) I =T 39T X / Use of vacuum

(D) SWIH @t/ All of the above

T e gerd fogeht faufauge, RrR aae 4 fasger & @ @ sgadt 8 / A fluid whose viscosity

changes with the rate of deformation or shear strain is

(A) =ISIHI & / Newtonian fluid
(B) 3T ad / Non-Newtonian fluid

(C) 3Texl aX / Ideal Fluid

(D) ST @ / Bernoulli Fluid

1. 961 2. URT 3. el 4. gt &1 At 39 el oY, =IAaH gEAar & Fedt e § gt dur e / List

the elements in ascending order from lowest density viz 1. Water, 2. Mercury, 3. Iron, 4. Kerosene
(A) 1,3,4,2 B) 4,132
(C) 1,423 (D) 3,2,1,4
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05.

06.

07.

08.

Ife Th Tl g Hl Tfd st 8, o ITh! NPSH 3Tereashal / If speed of centrifugal pump

increases, its NPSH requirement

(A) w8/ Decreases

(B) w&dl B/ Increases

(C) fRR wdt &/ Remains constant

(D) fa @ g Bt 8/ 1s independent of speed

Th 1 kg o€ I gt & qOEE H 1°C @ @ & ¢ HEwEs, S hH AET B FHEd @ /

Amount of energy required to raise the temperature of a substance of 1 kg mass by 1°C is called

(A) fafye w=e / Specific entropy

(B) fafire Ssar aman/ Specific heat capacity
(C) UITH 1/ Sensible heat

(D) 3HASHh ™1/ Latent heat

Th 9 WiH 6 gifea 3Rm F fag ufy fime sra gt it @@, RPM F 3f=E & fa

21 / Number of working strokes per minute for a four stroke cycle engine is
the speed of the engine in RPM

(A) % SR/ Equal to (B) o T 31T/ One half of
(C) 3 IR TAT/ Four times (D) = AT/ Twice

Teh 9159 |, ST 3TEateRtr fohar St @ @R / In an evaporator, heat rejection is carried out at
constant

(A) TMYHMN 9T/ Temperature

(B) < 9/ Pressure

(C) dMHHME 3R g@E YL/ Temperature and pressure
(D) URETT W/ Volume
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09.

10.

11.

12.

THG-F 9 "I a'rgmg?ﬁ?: ge19 2 / Standard atmospheric pressure at sea level is

(A) 1.013 bar (B) 1013 mm of Hg
(C) 1.013E5 MPa (D) 39Uk Gt/ All of the above

V-9e2 & STIIEI-<hlC I YA <hIvT HTHTIGAT BT & / The included angle of cross section of a
V-belt is usually

(A) 55°to60° (B) 45°to60°
(C) 30°to 40° (D) 20°to 30°
ﬁga gl el &5 % YR T IESIECAC PIRSIGI 35‘1 / Power transmitting shafts

are designed on the basis of

(A) kA / Strength

(B) HEHUA/ Stiffness

(C) (A)3fR/and (B)

(D) YUk ¥ ¥ IS 7@l / None of the above

AIE & g ! SAGRR <Y AT S § I9FT fRAT ST 21/ Mohr's circle is often

used to calculate

(A) ¥el dcd a1 / Principle Strain
(B) ¥ci dcd g1/ Principle stress
(C) 3TwIaT ST AT / Modulus of rigidity

(D) <qUS <heU-/ Beam stiffness
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13.

14,

15.

16.

ﬂ'@aﬁ % F FHE BIA 8 / Hot working of metals is carried out
(A) YA: ToRecelieRtuT ATTHM TR/ At the re-crystallization temperature

(B) gd: forteeiientur & AT & = / Below the re-crystallization temperature

(C) YH: Toheeiientor o ATIHM o HUX / Above the re-crystallization temperature

(D) freres & qoHE @ o S/ Just above the melting temperature

T3l weh & B Sfaly hl &War st H19T AT 8 / Ability of the machine component to resist
fatigue is measured by

(A) 3 TiEv / Bend test (B) TETd g{iEavi / Impact test

(C) <= st €41/ Elastic limit (D) &mar H4T/ Endurance limit

forga wftiesha 3R ! & HfSa w3 & fog Swarht fs 91g 8 / The alloy used for making

electrical resistance and heating element is

(A) T/ Tungsten (B) SHA-TTE / German silver
(C) B/ Nichrome (D) S<ish / Invar

T Ftaee suEe § @ 50 904 mm % 3R @ evg, 507293 mm ¥ R & 8 W e
CEGI %I e § 3fereray Bﬁﬁ‘q ‘%! In an interchangeable assembly, shaft of size 50 1‘3-_8‘1‘ mm

mates with hole of size 50%‘_% mm. The maximum interference in the assembly is

(A) 60 pum (B) 10 um

(C) 20 pm (D) 70 pm
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17.

18.

19.

20.

T& 20 mm A 3 100 mm HAE & 3G S H, o T9¢ SEAT & 19 TR R 50 mm S8
HTE STt 21 A # gftad= 2 / A solid cylinder of 20 mm diameter and 100 mm height is reduced

to 50 mm height by forging between two flat dies. The change in diameter is
(A) 2.07% (B) 41.4%
(C) 20.7% (D) 50%

I mior 6t 91 oft e & / Additive manufacturing is also called
(A) T ot / Non-traditional manufacturing

(B) 3-D Tf&/ 3-D printing

(C) SR afesT qehleh / Laser welding technique

(D) warsHT AN i / Plasma addition manufacturing

x-g{ W, b= FANeE 3R d = TS & JECBR TUS HT TScd HT &7 § &A1 ST | / Moment of

inertia of rectangular section having b = width and d = depth about x-axis is given by

b? g? b3 d
A [, = B lo=
A I, 5 B) I, B

ba? BD® —bd?
¢y Jomm—— 00 N BT .
C) Iy 12 (D) Iy 12

Th GOt ST AT HT A9 125 GPa  ®, 3R UIRRET 1 31gUd ® 0.25 gt &t e &
AT &/ The young’s modulus of a material is 125 GPa and Poisson’s ratio is 0.25. The modulus
of rigidity of the material is

(A) 30GPa (B) 50 GPa

(C) 80GPa (D) 100 GPa
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21.

22.

23.

24.

IR T e, v I Thiaedq (a) ¥ I @R, 9 T () F e Rve v 3ifm 3 (v), sut gt/
If a body is moving with a uniform acceleration (a), then final velocity (V) of the body after time (t)
is equal to

(A) ut + 1&1‘2
2

(B) u+at

(C) u?+2aS
(D) 39UTH # ¥ IS &l / none of the above
(S1&T u = YRS A7, s= v el & & I T3 g0l / where, u = Initial velocity, S = Distance

travelled in 't seconds)

Teh fopcit Y%eheT SUSK B / One Kilo Pascal is equivalent to

(A) 1000 N/mm? (B) 1000 N/cm
(C) 1000 N/dm? (D) 1000 N/m?

Th 1 m oI & oTg 6 URT H 1 N/ mm? & & B W gl AfG u1g H a4 o 20 N/ mm?
IFAd B, df UTEY W S & O Aevae u1g H " &°ft / A metal pipe of 1 m diameter

contains a fluid having a pressure of 1 N / mm?. If the permissible tensile stress in the metal is
20 N / mm?, then the thickness of the metal required for making the pipe will be

(A) 5mm (B) 10 mm
(C) 15mm (D) 25mm

w9, pV"=C & FFE W Iowdt 21 A n=1 1 g, @ I8 TiE6A1 FHea@ it / A gas follows

the law pV" =C. If the value of n=1, the process is known as
(A) ®gr/ adiabatic (B) uwHatdl/isothermal
(C) Ui / isentropic (D) ®g&RT / polytropic
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26.

27,

BINEIE g dHl % W TT SHIST 2 / Standard colour coding of Oxygen gas cylinders
(A) ST/ Grey (B) &7/ Maroon

(C) el / Black (D) <&/ Red

U e 3R TEUE & < Werdr ¥ TN fed M gve A 3 B, Fom H femm® alie @ g R

W T 989 Ll 81 <v8 ‘B' i fommd, qog A’ % St Bt 7 Two simply
supported beams ‘A’ and ‘B’ of same breadth and depth carries a central load W as shown in
figure. The deflection of beam ‘B’ will be ——— as that of beam ‘A’
T \f
F 3 A F 3 3
< [ P < 2L P
(i) Beam A (i) Beam B
(A) Uh-3ATHT/ one-half (B) gﬂ'—ﬁ!double
(C) =R AT/ four times (D) A3 TAT/ eight times

EEEEE] fé@ d8 ﬁg 8 gl / Breakeven point is the point where

(A) Fruffa ok oied qm terd yfo=dg #xft & / fixed and variable cost lines intersect

(B) fuifa 3t el m ‘Slﬁlﬁ‘q’ ETGil %Ifixed and total cost lines intersect

(C) il 3T FoT g @ witeadg Tt & / variable and total cost lines intersect

(D) ICET] 31Tﬂla=ﬁ R % g i“@ré’ Dﬁ%ﬁ H % / sales revenue and total cost lines intersect
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28.

29,

30.

31.

A & §T gfaQyshdr s! M % ¢/ To increase the corrosion resistance of steel

(A) SAfeam =t ﬁ?’ﬂ%ﬂg dcd Y SIIeT AT & / Vanadium is added as an alloying element
(B) whiftEm =it Myt I SI¥ SIST SITaT 8 / Chromium is added as alloying element
() et =t fl‘-ramg qod S ST ST & / Nickel is added as an alloying element

(D) dis <! fzreng deg & ST 9T 2 / Copper is added as an alloying element

et A0S Y, T 27°C F AN 3K oG 6 IR (a) W 3m® AT F §A H HUSRU AT S 2|
qd9 ¥ wogid e T F & gar aEe 7 % T fRR R = 300 JKgK | / Gaseous

nitrogen is stored in a vessel of volume 3m?® at 6 bar (a) pressure and temperature of 27°C. Find
the mass of the nitrogen gas stored in the vessel. Assume gas constant, R = 300 J/KgK.

(A) 10Kg (B) 20Kg
(C) 30Kg (D) 15Kg

oyt ST % ITw Wi & e 1l el ot 99E THR 8 18 : 4 : 1 3 Tid VI (H.S.9)

S g1 8 / The most popular and standard type for all purpose tool steels is 18 : 4 : 1 High
Speed Steel (H.S.S), which contains

(A) 18% SHIFRH, 4% TR 3T 1% AATSIH / 18% chromium, 4% tungsten and 1% vanadium
(B) 18% TR, 4% ST 31T 1% HIIT / 18% tungsten, 4% vanadium and 1% chromium
(C) 18% T/, 4% 3hIftEd 37 1% AAfSAH / 18% tungsten, 4% chromium and 1% vanadium
(D) 18% afifeam, 4% sHiftRm 3T 1% T / 18% vanadium, 4% chromium and 1% tungsten

T fig W A qEE % SUT AT 81/ Gauge pressure at a point is equal to

(A) YH qEE + Wﬁq <T9[d / absolute pressure + atmospheric pressure
(B) Y T - a‘@qvg?rﬁ'q ¢s1d / absolute pressure — atmospheric pressure
(C) I T+ WH g9 / vacuum pressure + absolute pressure

(D) Y qET9 - I <19 / absolute pressure — vacuum pressure

10
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32.

33.

34.

35.

& Trsfher formd @ i g 3R & W@=ifuss geg 8 Fead & / A cycle consisting of two

constant pressure and two isentropic processes is known as

(A) ME W3 / Carnot cycle
(B) et |msfehet / Stirling cycle
(C) 3Wg W3Rt / Otto cycle

(D) ST Tl / Brayton cycle

= 4 3 v ot afeen wisran sraudt waegis! st 3w St @ ? / Which of the following welding

process uses non-consumable electrodes?

(A) TIG 3fesT / TIG welding
(B) MIG afesT/ MIG welding
(C) & gaiw AfcET / Manual arc welding

(D) =1 W 3feet / Submerged arc welding

T arEft 6t fiE1 & 1T/ In order to grind soft material

(A) TEH THER fHd & gfgu = IT=T foha STt B / fine grained grinding wheel is used
(B) ¥ THeR e & qRT 3TANT T3 ST 2 / coarse grained grinding wheel is used
(C) HYH THER 9w s Ui T ITAT / medium grained grinding wheel is used

(D) éqﬂ?s a4t / All the above

YA &7 o 3¢ Holl & guUT hl &HaT I AT HI HEd & / The ability of material to absorb

energy within elastic region is called

(A) &=ar/ Ductility (B) oI / Resilience

(C) <h8149A/ Toughness (D) H3NT / Hardness

Bidlw sfleiorCleust] sy rmiiéd Blmieuss 2 hgiw euenran/
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36. THAA Wd HT CG, SAMMHfT Hg W &l grar, ey H / The CG of a plane lamina
will not be at its geometrical centre in the case of
(A) gaspivia feRior/ Right angled triangle
(B) @wysht £3RIT / Equilateral triangle
(C) 3m™ad/ Rectangle
(D) dx/Circle

37. frR s W qus (@wwn) Hi fog, &l sifehan geha & Bal 8 / Shear Force at a point in a
beam, where maximum bending moment occurs is
(A) 3TRreham / Maximum
(B) JARISHAH T 31T/ Half the maximum
(C) A/ Zero
(D) 3I9UTH H ¥ I3 &1 / None of the above

38. oftfe afcen @ 1 &9 81 / Thermit Welding is a form of
(A) AN 8T / Fusion welding
(B) 7w afeeT / Gas welding
(C) g AfeET/ Arc welding
(D) yfatiees 3feeT / Resistance welding

39. T gew <t fafiw uEn, & uit gew i fiwear & feft #t F@d 2/ The degree of closeness of the
measured value of a certain quantity with its true value is known as
(A) URIEdT/ Accuracy (B) Y&HdT / Precision
(C) gewmled / Sensitivity (D) W / Standard

. @iHw el eimGleustl gyumiisd Hpieust 2 BaI0 eieTTab/
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40.

41.

42.

43.

Teh TATAN iR e =1 ~AdH T '3 / The least count of analog vernier calliper is

(A) 0.1 mm (8) 0.01 mm
(C) 0.001 mm (D) 0.02 mm
TR e, TETYA T 3ATed il 21 / Injection moulding is the ideal method

for processing

(A) AT / Plastics

(B) S AT / Thermo plastics

(C) Sufta Bfgm W / Thermo setting plastics
(D) 3T Tt / Non ferrous materials

Teh 907 I | e & ITHLT ECRIRSIGH %IThe cutting tool in a milling machine is mounted

on
(A) Tehell T/ Spindle (B) W™ W/ Column
(C) gt W /Knee (D) MUY 9T/ Arbour

CNC Aefiq 3ushtur #, et AAH § YAf 9T Y™/ In the CNC machine tool, the part

program entered into the computer memory

(A) TA: TN R ST Tk B, T 3W &S SR UNEfid ST 81/ Can be used again but it
has to be modified every time

(B) FIeT Tsh SR 39T 39N TeRam ST |ehaT 2/ Can be used only once
(C) YA: YH: IYANT fohaT &I Tkt 2 / Can be used again and again
(D) 37U T B I3 &l / None of the above

Bidlu efleiurbleusfl gurmiu&dl Bnieuer 2 khg)w euenrsid/
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44. TH 3Ty a e B/ An ideal fluid is
(A)

B)

(©)

(D)

HYugla 31K IS8 / Frictionless and incompressible

EIEUED A & I 1 YT T 8 / One which obeys Newton's law of viscosity

FEUER 3R GifSd / Frictionless and compressible

sgd feafar / Very viscous

45. UH STET TEE ff, ST e 1 IYART BlAT B / Braking jet in an impulse turbine is used

(A)
(B)
(©)
(D)

M & e (HER) I ded & 1T / To break the jet of water

TR &, B g9 ° AW | @M & f&TT/ To bring the runner to rest in a short time
Rt e gfEds & foT¢ / To change the direction of runner

I § ¥ IS 781 / None of the above

46. T AR} fsrareres gfied #, oy w1 Tefifsa foRam ST 8 / In a double acting compressor, the air is

compressed

(A)
(B)

Th S & /In one cylinder
3l Sel A / In two cylinders

(C) T % i u&li WX U @ A / In a single cylinder on both side of piston

(D)

e & A1 well W g det 7/ In two cylinders on both side of the piston

47. U uitads o, faga witw = ger dfem @ Mo T | qegen fFan S 2/ In a transformer

electric power is transferred from primary winding to secondary winding

A)
(B)
(©)
(D)

91y g1/ Through air

greeh1g 9819 g / By magnetic flux
Y& HITFH g1 / Through insulation medium

3I9UH § & =I5 781 / None of the above

14
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48.

49,

50.

51.

T 2 cm ™ %, 3 JABRT T g8 W 10 kN/ecm? & 749d BRR gama g 9 8, df 3us
AT & I e BT / A solid circular steel shaft of diameter 2 cm is subjected to a permissible
shear stress of 10 kN/cm?, then the value of twisting moment will be

(A) 57 kN-Cm (B) 10z kN-Cm
(C) 157 kN-Cm (D) 207 kN-Cm

Tk SieT fofT <61 wrfepet, 10 kN & YR W, €2l | 39 S99 & 8,000 €¢ 3| Ife 3HF WR =l
20 kN & e fear sime, sht g9 fRufad sl @ae W@ dt 98 & / The life of a ball bearing at a

load of 10 kN is 8000 hrs. Its life in hours, if the load is increased to 20 kN, keeping all other
conditions the same, is

(A) 4000 (B) 2000
(C) 1000 (D) 500

T o1 fifR ff fFrafeRea fafymant a2 /A spur gear has the following specifications:
gIar <t §&AT / No. of teeth = 22

= 9d =g / Pitch circle diameter = 14 mm
ARt U= %1 4o g @S¢ / Find out the value of circular pitch

(A) 16 mm (B) 8mm
(C) 4mm (D) 2mm

Th el sh GidAd ITeT fh9 71 =T I 87 / A bottle opener belongs to which class of the
levers

(A) T ¥ YA / Effort in the middle

(B) H¥H T 3T / Fulerum in the middle

(C) =a ® wiieehdl / Resistance in the middle
(D) 39Uk § & 13 78l / None of the above
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52.

53.

54,

55.

ama: 3fH e =t sregfafan figarg @ SR STan 2, =it / Engine pistons are usually

made of aluminium alloy because it

(A) % Boshl BT & / Is lighter
(B) =¥ fErams Bt & / Offers less wear

(C) 3TETa 3T IO Tt & / Absorbs shock

(D) o8 TS BHAT & / Is stronger

TR 4 S & 98T 3f~F 7 BT FEm 2/ Most 4 cylinder automaobile engines have a firing

order of
(A) 1-3-2-4 (B) 1-4-3-2
(C) 1-2-3-4 (D) 1-3-4-2

IC 3fR # Hgs a1 Tf=TeiT 8141 8 / The lubricating oil is circulated in an IC engine by
(A) 3Teh=i UHT / Centrifugal pump
(B) HhRIcHD foreagT w1/ Positive displacement pump

(C) ¥ ISR/ Roots blower
(D) THfcer TR=TET HIEEA / Natural circulation thermosiphon

seTif=7T s freRret € STt & / In blanking operation the clearance provided is
(A) 50% 9= T 37X 50% B§ W/ 50% on punch and 50% on die

(B) 3 W/Ondie

(C) 4Y=d 9T/ On Punch

(D) '5'% g1 9 T, %GIE?{ % farerea W 3meuTita 8/ On die or punch depends upon designer’s choice

16
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56.

57.

58.

59.

60.

3T AT B 9RIf=radr st a9 631 ST ¥ehar 8 / Loading in production planning may be

defined as

(A) =1 & G@ﬂ‘rﬁ I AT/ Assign the work to the facilities

(B) F= HIeT I ISR T8 Y WS/ Sending the raw materials to the store

(C) Tyl (Wu=) FTwft T YUSK g I W91/ Sending the finished material to the store

(D) ™ FeEm 9T § GIHRSR i TS HTT / Uploading software in machine control panel

ﬁg a ﬁg Jue! CNC T 39IIT ﬁ?ﬂ %f Point to point systems CNC are used for
(A) T & foT/ Facing (B) WIfET % 7T/ Parting
(C) <@HI/Reaming (D) Tvegor A/ Grooving

CAD/CAM T3 ¥, Hifass Sy fafeen smes e Srd @ / The basic geometric building blocks
provided in a CAD/CAM package are

(A) fg/ Points (B) @MW/ Lines
(C) d9x/ Circles (D) 39l Tt/ All the above

SLS 1 quf &9 94T 87 / What is the full form of SLS?
(A) Selective Laser Simulator

(B) Selective Laser Sintering

(C) Sintering Laser Simulator

(D) Stereolithography Laser Sintering

CNC ®sf 49 & 9&mr %1 %1 8 / The function of interpolator in a CNC machine controller is
to

(A) bt <hl Tl 1 f==01 / Control spindle speed

(B) 39h{U a1 feRet 7fe 9 f3=01 / Control tool rapid approach speed

(C) Wﬁﬁ % g g ! HAT=IG ST / Coordinate feed rates of axes

) fafag (M) R & & (TRW EeE, Foe FEEU ) W OHET / Perform

miscellaneous (M) functions (tool change, coolant control etc.)

Bpdw ewbleuatl gy rmiEs] Hinieus 2 hHaio eueTrsh/
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FINAL ANSWER KEY FOR WRITTEN TEST HELD ON 10.04.2022

‘ Question No.

Answer Key

Question No.

Answer Key

01

31

B

02

32

03

33

04

34

05

35

06

36

07

W 0| W W W | m

37

08

38

09

39

10

40

11

41

12

42

13

43

14

44

15

O (i Q) [ O[] =

45

16

ek

46

17

47

18

48

19

49

20

50

21

51

22

52

23

53

24

54

25

55

26

56

27

o7

28

58

29

59

30

O P @ OIO[O|w|0|0| (0] ot

60

O OO |IO0O|WO(P|I0O|0)0|>2 O 0|00 |0(> | > O/l o w|>|0

*** Question not considered for evaluation
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